SOLVING ALGEBRAIC EQUATIONS
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ACTIVITY
1. Solve the following equations
a.2x+5=x+8 b.2y-3=y+2 cSet6=4e+3
d.4m+15=m+6 edatd=a+8 £3b-5=b+9
gh+6=2h+4 b."5+2q=4q+7 L2b+8=5b-4
jodk+2=2k-6
Solving equations mvolving brackets
1. Solve the following equations
0. 2(z+4)=12 b.3(y+4)=3 c.4(a-2)=8
d.5k-4)="5 e-2wt3)=4 £-3(qg-5)=9
g.6(20+3)=24 b 32-2p)=12 i24tm)=m+8

PApt0=2m+5)  k4B-3)=20+4)  L3(x+5)=40+)
m. 22y +7)=30y-2)

Solving equations involving brackets
1. Solve the following equations;

a(p+)+pt2)=17 b.(a-1)-(1-2)=0
e (x-2)+(x-3)=10 d.(n-6)+(20+4)=4
e(%k+8)+{k-2)=0 fQy-4)-y16)=2
g.(4a-5)-(2a-3)=6 h.(h+3)-(-5)=4
i (m-5)-@4-m)=l j30qt2)+@qt6)=8
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